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Plan zagospodarowania przyłącza wody i
kanalizacji sanitarnej
Barlinek, dz. 751 i 806/6, obr. Barlinek

Gmina Barlinek, ul. Niepodległości 20

Budowa zaplecza sportowego

1mgr inż. Wilhelm Heleniak
upr. 165/Sz/02
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Osie współrzędne:
W1 X = 5934776.55 Y = 3381496.73
W1A X = 5934790.13    Y = 3381503.08
SW X = 5934792.40    Y = 3381504.14
W2 X = 5934794.99 Y = 3381505.35
W3 X = 5934795.24 Y = 3381515.84
W4 X = 5934792.53 Y = 3381526.23
W5 X = 5934784.26 Y = 3381542.45
W6 X = 5934780.25 Y = 3381558.85
W7 X = 5934781.98 Y = 3381584.40
W8 X = 5934781.43 Y = 3381613.90
W9 X = 5934782.37 Y = 3381622.24
W10 X = 5934786.43 Y = 3381634.80
W11 X = 5934793.60 Y = 3381648.16
W12 X = 5934798.10 Y = 3381666.73
W13 X = 5934801.18 Y = 3381674.51
W14 X = 5934804.14 Y = 3381689.36
W15 X = 5934815.62 Y = 3381717.92
W16 X = 5934825.98 Y = 3381739.34
W17 X = 5934830.38 Y = 3381752.90
W18 X = 5934842.83 Y = 3381746.38
W19 X = 5934852.91 Y = 3381748.94
HO X = 5934853.14    Y = 3381747.82
P X = 5934853.02 Y = 3381745.89
T1 X = 5934842.87 Y = 3381745.07
T2 X = 5934830.87 Y = 3381751.35
T3 X = 5934826.86 Y = 3381738.98
T4 X = 5934816.49 Y = 3381717.54
T5 X = 5934805.03 Y = 3381689.10
T6 X = 5934802.06 Y = 3381674.21
T7 X = 5934798.88 Y = 3381666.04
T8 X = 5934794.43 Y = 3381647.72
T9 X = 5934787.36 Y = 3381634.52
T10 X = 5934783.21 Y = 3381621.68
T11 X = 5934782.32 Y = 3381613.86
T12 X = 5934782.87 Y = 3381584.28
T13 X = 5934781.15 Y = 3381558.81
T14 X = 5934785.18 Y = 3381542.34
T15 X = 5934793.25 Y = 3381526.52
T16 X = 5934795.88 Y = 3381515.84
T17 X = 5934795.61 Y = 3381504.39
S1 X = 5934791.72    Y = 3381502.77
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